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l. Complete each of the following reactions by giving the principal product (A-E} formed in each case.
Br

(a) — A ——— B
alhar
(8 pis)
080 Ha
(o) - i e . )
MaHED,
Major Product MInor Producy
{0 pls)
Erz NE.NHE
&l PH—CHZ=CH, = - E
{Frodug! Eis a hydrocarton not comglning broming)
(GpLs)

2. Using the curved-arvow formalism, suggest a mechanism for each of the following reactions.

(#) The addition of HB lwice to 2-butyne 16 give 2,2-dibromobntane. (10 pts)
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4. CQne of the jsomeric conpugated dienes having the farmula Cglg is not able to react with a dienophile in
u Diels-Alder reaction. Draw the sirectare of this compound.
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5. (1) Draw the structure of the carboration formed upen ionization of the compound shown. (B pts}
(b) A constitutional tsamer of this cormpound gives the same carbocation; draw is structure, (2 pis)
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6. Write the correct structure for each of the following:
(a) The enolate lon derived from reaction of 1, 3-cyclghexanedions with sodium methoxide. (B pts)
(b} The carbonyl form of the following enol. (B pts}
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1. Provide slryctures for compounds ¥ and G in the following reaction scheme: (10 pis}
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